10/2 4:00 =

(R=415.1mm ~ I=11mm/h)

i) o Bl Eld g L

0

o1 HoowF 01H128§F 02H00WE 02H128¥ 03 HOOKE 03H126F 04 HOOHE 04 H126F

—0

3 & £ 2 F(CLU501)

2 E i ES AR E D 550mm

100 # 1001 % -& fF ~ F-003
SRS - B 51 R #6586k & 8k

$USEBEENERT C 108 2 8 4685005

K= FRIB

SENEIEME © 415.1mm

R

*,
o3

B

31 AR TWDI7 i st
20 e BMRTE RR—K L FEL
R R

& KB ERRET

VERBERERRINERILZROHEFN
& - EEEMER NEW > 2 XRAESF
HOEERE N8I 400mm WE - BEME 51
#RIPE 6k K2 8K FRLLIRINBE A RS i
WS - ST OHIRE R -
BBiELIE BRERRERITBLIE
B3R

EEZR -

VBB | H 51 {RBER 100 /R -

VABBT (-

N P

#E1MmE

LS 323

-,
1
U
4
i

/
/

Bk 3 34 1

Bk Au® M 4

FRERELR § kD R h




